R KN S

4 %1 VR AR A 1T 4
PERRI02& R Wi ard R
i 2 = 3 m
B AEETE RitiaerE (BF) 22,813 |1. ot s B JiF [ 39 4F & 26 100 4 [ ;wﬁ 4R
BH62 o H 139 ~ 40 ~ 41 ~ 43
- H3EE 1004 1 |(BF) 176,567 AR~ 43 2 45 2 49 ~ 50 51 © 50
ErTEE E AR 70~ 71~ 72~ 737580 > 81 ~ 82 -
838586919294 ~97 9899+ 100
0 4 FE T4 3,800(28,098E5 7T © 44
46 ~ 47 ~ S3FEE9 ~ T4~ T6ZET9 - 84 ~ 87 -
(— R EERERREL (8% 614,221 88 ~ SN FAEFL89 ~ 90 ~ 93 ~ 95 ~ 9633
i 4 & 4 5t & 6% 6,142 & 2,140 & T -
(RS R (%) 380,990 W4 B 8% 2332 1% 3,142 B T 0 M [
JE 4 L EH R /D B 654 (% 6,009 & T
(C)RFE I eRAE  |(Gl) 65,460 Fr 68 A B 45 88 4F E 4% & B 87 18 9,622
HT SRR, 765186,6958 7T ©
(MDA ZEHREE  [(BR) 8,796
GEEREL
T~ EASBIEELEEREL  |(BR) 33 2.8 A 38 4F U 45 65 3,208 T 0 538 4F
FEIRGAEFHL -
=~ FETHEER AR |(&4) 153,787 30 B B E E B ¥ 1,537 {8 8,655
%A% TCEFERE 0 (1) 624 B[ % K
AR AHE20ET > (2) 2QFF
L ~ EHRELRYIE (&) 21,519 | ZF 64 4 & i 2R R R TR B A SR A B A A1
FEBAHBOET > (3) 4AFERE
— ~ 01RO EUT4ETH [(4f) 14,506 BT A S RO B F B30 /& 9T
E=NEETWESREE (4) 60%E REEHEEEZEEHILS
2N R R R E R R B 176 (B 3,500
= REERREGETE |G 0 7,013 BT (3 E S22 40008 T 0 5B
BT HE TOHA 47 8 7,400 # T 0 55 = H 34 18 0,900
%ﬁ&%@ﬁﬂﬂiul,mo%ﬂ:)
(5) 694F & n 5@ B B %2 = Al o &
BHEE25ET > (6) 79 % 8] 4F &l
EEEILHEEE S HEAKE I
T2 R Al R B % A #4415 0,000 & JT
(7) 80ZE Q4 &8 L& HEEKEH
HEsrAHEZRFEEERNAEEH
B2t 0 (8) 86 % 884 & [ I &
f& 1% B MR B R B H #0104 & 8,000
& T (9) BSEIFEE G KEK
HEKBEEHFEFIHEN AR
R E36E1,138& 7T » (10) 984 EHRFELL
TEOHE SRR R ER HES 4TS T -
W~ REREL (Bp) 1,294




